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Ungraded Problem Set #5

1. Extend the constraint typing rules presented on page [2]to support a new constraint typing rule correspond-
ing to (T-RcD) from page
2. Define a constraint typing rule for the modified version of (T-PRrR0OJ) given below.

'+ tl : {ll LT iel..n}
['F (t; with {I; *€*"}).j: 7,  (T-PROJASC)

3. Using the constraint typing rules presented on page [2] and your extensions developed in the previous
problems, give a type derivation to compute the constraints for each of the following assuming the specified
type context (I') to start. Complete the derivation even if the constraints cannot be met; you are not
expected to solve the constraints.

e (Ar.1) {x=2,y=3}
where ' = {}

e (Ar. (r with {x:Int}).x) a
where I' = {a : {x:Int, y:Int}}

e M. Mg . g(fg)
where I' = {}

4. Using the typing rules (page [3) with the rules for polymorphism (page [4]), give a type derivation for each
of the following assuming the specified type context (I') to start.

¢ MX.AY. A (X5 Y) = X dg X = Y. g (fg)
where I' = {}

o M :VX.X — Int. (f [Int] a) + (f [Bool] b)
where T' = {a:Int, b:Bool}

e MXAf: X — Int. (fa)+ (fb)
where I' = {a:Int, b:Bool}

5. Consider the following “counter” represented as an existential type. Give an alternate implementation
using a record with the same existential type.

counter = {xNat,

value = 0,
increment = Av : Nat. succ(v),
get = Av: Nat. v

}
}

as {3X,
{
value : X,
increment : X — X,
get : X — Nat

}
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The terms for the expression language are to be inferred from the rules below coupled with the discussion in
lecture (and in the textbook).
nv is for numeric values.

Constraint Typing Rules

I' F true : Bool | {} (CT-TRUE)
I'  false : Bool | {} (CT-FALSE)
F}_tliT1|C1 F|_t2:7—2|02 F"tg:’TgICg C/:C1UC2UC3U{T1:BOOLTQ:Tg}
'k if ¢y then ty else t3 : 7o | C” (CT-Ir)
I'Fnv:Int | {} (CT-INTCONST)
tli’Tl‘Cl C”:Clu{ﬁ:Int}

I' F iszero ¢; : Bool | C’ (CT-ISZERO)

I‘l—tlzﬁ\Cl F}_tQ:TQ|CQ 0’201U02U{T1:Int7’7'22111t}
't +ty: Int | C’ (CT—ADD)

I'Hti:m ‘ Cy Thty:m | Cy C’:CluCQU{n:Int,Tg:Int}
'ty —to: Int | c’ (CT-SUB)

x:7eTl

kx:7|{} (CT-VAR)

Oix:akbt;:6]C
'FXxx:a.ti:a—=p|C (CT-ABs)

F"tli’Tl‘Cl F}_tQ:T2|CQ CI201UC2U{T1:T2—>X}
'+ t1 to : X (CT—APP)
where X is a fresh variable
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Typing Rules
I' F true : Bool
I' I false : Bool

I'Ft;:Bool I'kty:7m I'kHitsg:7
I'if t1 then to else t3: 7

I'Fnv:Int

t1: Int
I' I iszero t; : Bool

T'Ft;:Int THFty:Int
I'Fty +1t2: Int

I'Ft;:Int THFty:Int
F}_tl—tgilnt

x:7el
IkFx:71

I'x:akbt:p
'EXx:a.ty:a—p

I'tty:a—p Tt :a
Fl—tltzlﬁ

foreachi T'Ft;:7
T+ {li =1 iel..n} . {li ST iell,n}

'k tl : {lZ T iel..n}
'+ tl.j C Ty

Dty

F'E(l;=t;)as (l; : 7 ielomy o ([ gy €L

[to:(l;:7 ") for each i

F7.’E7;ZTi|_tiZ

[k case tg of (I; = x;) = t; ‘€tn 7

I' - unit : Unit
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(T-TRUE)

(T-FALSE)

(T-IrF)

(T-INTCONST)

(T-ISZERO)

(T-ApD)

(T-SuB)

(T-VAR)

(T-ABS)

(T-APP)

(T-Rcb)

(T-ProJ)

(T-VARIANT)

(T-CasE)

(T-UnNIT)
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Polymorphism Rules

IXkFt:r
F'E XXt : VX1 (T-TABs)
I+ tl VX1
Lkt [B]: [ X BT (T-TApPP)

't [XHU]Tl
TF (+U, 61} as {3X, 71} - (3X, 71} (T-PACK)

Pt :{3X,nn} I,X;x:mbte:m
'k let {X,x} =t1inty: 7 (T-UNPACK)

Subtyping Rules

S<:S (S-REFL)
S<:U U<:T
S<: T (S-TRANS)

I'Ft:S S<:T
TFt:T (S-Sus)

Py <:P;y Ri <:Rs
P, — R; <:Py— Ry (S-ARROW)

{li iel..n} - {k’] jel..m} kj = lz implies (e7] <: Bi
{]fj a7 jeL.m} <: {ll : ﬂi iel..n} (S—RCD)




